
S1827-V2

Kit contents:
→  [A] Internal Plate x1
→  [B] External Plate x1 
→  [C] Plate Gasket x1

ProtektaPlate: Universal Fitting 
Guide (Use with care)

 Installation Guide ↗Product

Whilst we have prepared these 
instructions with integrity, care and 
believe all information to be true, these 
are supplied for guidance only. The 
installer should check and confirm 
measurements prior to drilling or 
cutting. We reserve the right to change, 
and or update these instructions 
without notice. This specification is the 
intellectual property of TVL Group.

Web:
www.tvl-ltd.co.uk

Phone:
+44 (0) 333 444 6600

Email:
Support@tvl-ltd.co.uk

For more detailed 
instructions, follow the 
QR code to our video 
guide.

Fig. 2 Fig. 1 Fig. 3

M6 Serrated 
Nuts

(Uses M6x12 Washers)

M6 Nylock Nuts 
(If required)

Fig. 5 Fig. 6 Fig. 7Fig. 4

Instructions

This guide is to be used with caution, please check alignment before drilling any holes. 
If in doubt please speak to our technical support team using the details at the bottom of 
the page.

→  Locate door/position of Protektaplate [Fig. 1].
→  Offer gasket up into position. Mark the holes on the gasket [Fig. 2 & 3].

→  Drill the holes to 8mm. Take care to not drill through mechanism. Paint the inside to prevent rusting [Fig. 4].

→  Place the studded external plate through the holes and fit on the interior plate with the supplied M6 nuts. 

Ensure if Nylock nuts are supplied they go on outer edge [Fig. 5 & 6]. 
→  Peel off protective film. Installation complete [Fig. 7].

Ensure door is 
open when 

drilling edge 
holes

Example kit 
assembly

[A]
[B]

[C]
[D][E][F]→  [D] M6 Nylock Nuts*

→  [E] M6x12 Washers*
→  [F] M6 Serrated Nuts
 
*= Nylock nuts are not always required

A scannable 
QR Code

will be here 
in vehicle-speci�c 

�tting guides. 


